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Christmas Subtraction

Solve the following word problems.

Santa had 700 mince pies. He ate 250 of them.
How many mince pies does Santa have left?

There are 800 Christmas lights on a tree. 300 lights
are not working. How many lights are working?

Mrs. Claus baked 950 cookies. The elves ate 200
cookies. How many cookies are left?

There were 1000 Christmas cards. 600 of them
were sent. How many Christmas cards are left?

Santa has 600 reindeers. 100 reindeers are resting.
How many reindeers are ready to fly?

There are 900 ornaments on a Christmas tree. 300
ornaments fell off. How many ornaments are still
on the tree?

Santa’'s workshop has 1000 toys. 350 toys are
already packed. How many toys are left to be
packed?

There are 800 candy canes in a jar. 200 candy
canes are taken for decorating the Christmas tree.
How many candy canes are left in the jar?

Santa's sleigh can carry 950 presents. After
delivering presents to the first village, the sleigh
has 400 presents left. How many presents did

icm’rq deliver?
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